Answers

The whole is 10. Half of 10 is 5. @
The whole is 12. Half of 12 is 6.

False. 7 and 3 are not equal groups. 5 is half of 10. ?a
Half of 8 is 4.
7 is half of 14.

The whole cabinet has 6 spaces. Half of 6 is 3.
N

Various answers, for example:

) U ) U U L W v LW L L i
¥ Lllz2|2]2]|Z]X L Llz2]X 1] ¥
p )4 4 )¢ i
¥ 1 3 ] ¥
Amsalsasisiisar: AEbIlEEr: vy
4o o VIS LH LH PN LH yiN 4o VIS LH IS L
X p X i ¥
v vIv T |3 V1§
N VIS PN Vi L | L

Even numbers can be halved without any remainders or
split items.

When odd numbers are halved, there is one item remaining or needs to
be split.
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